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(BT = A" 9L /kg)

=1 — = o B&ER | . BHERERE]| | . EHRRE
== | HTHY 5uE ERERS 88) | TIM3E | Thomiiz)y | BIM3T | (hyminar)
(IEES 5V BUBBEMEENATE| 7THB)|] &L 9.6 | A& 8.4
IEEES mY B L HMEEINTE]| 2HOK)| A&H 7.8 | A1&H 6.9
3 B AV X | BRLmAHE] 25H ()| A%HE 6.3 | ~M&EH 5.5
AEEES AV UY X E8 1L PFa BT =4 8H(N)| A& 10.6 | Ai&H 8.5
5 |B AT X |BLURESALEZFE] 188 (&) 1~ &H 6.3 | ~M&EH 5.2
6 |[FFE A1V U~N X [HEHNT 18H ()| A& 7.1 | &R 6.1
[EES 15X |HNT 21H(B)| A#%HE 5.7 | AM&EH 4.9
8 |Bx TN X EBLUTmEALLETRARH| 18H(£)| A&H 7.0 | A%H 6.0
CIEES IANYX (Zn) [BRLLTZIEH] 108(KX)| A~ &E 8.9 | A& 6.9
EES ARF+ IR 18| A~ &E 4.8 | ARH 3.9
11 |8 ARF+ L ZiEE] 16H(K)| A 9.6 | A&EH 8.2
12 |8 ARF+ LT ZiEE] 17TH(KR)| A& 5.3 [ A%H 4.4
13 |8 ARF+ 8L = A HHT 5H(X)| A& 5.3 [ A1 4.5
MEES ARF+ ERLL T EATET 17TH(KR)| A~ &E 6.4 | A &H 5.5
15 |Fx ARF+ 8L = HET 215(B)| I &HE 8.6 | A& 7.2
EES ARF+ BB T EEARET 8HON)| I &RHE 4.5 | A& 3.7
EES ARF+ BRIRED 3H(KN)| A &E 5.8 | A&H 5.0
18 |82 FaDl) TEEBAEN SH(N)|[ A& 6.9 | A1&EH 5.6
19 ¥ Fa1oU ELHZEE 9H0K)| F&RHE 6.5 | A& 5.4
I EES Faol E8LLHERH 29H(CN)| AEH 9.6 | A&EH 7.7
A EGES Faol 8L = HET 6H(H)| At&HE 5.2 | A%&H 4.3
22 |B Fa1ol LT PREHBIRAER | 8HON)| A& 6.0 | A1&EH 4.9
23 |FE 219U BLUHEXALEXFA| 188 (&) ~&E 5.6 | A& 4.9
AEES 219U BUBEXALEIRER | 4H(&)] ~&E 7.1 | ~%H 5.8
25 [Hx Fa19U HAH 188 (&) A~ &E 5.9 | &H 5.1
26 |Hx J—+ 8L ZHE ] 2B0K)| A &HE 9.0 | & 7.3
YIREES J—+ ELH=EAHET 58(1H)| A~&E 5.2 | I&H 5.2
28 |[Bx dJ—+ 8L HANERET 18H ()| A%&H 5.3 | A& 4.7
29 [Hx Jvr A1 E TEBAEN 9F0K)| F&RHE 8.6 | A& 7.0
30 [F=x T H1E SRR Al 1TTHCR)| ~&HE 6.0 | & 5.1
T EES T A1 E IR 2B0K)] ~@HE 7.7 | ~%H 6.4
Y ESES T HA1E IR 1TTHCR)| ~&HE 4.4 | R 3.7
33 |F=x T H1E IR 1TTHCR)| ~&HE 4.8 | RH 3.9
A EES T H1E BRI AHRET 2580 (&)| A MEHE 5.6 | A& 4.8
35 |Bx I AT ESLLTHPREHBIRAER | 8HON)| A& 8.7 | A&H 7.7
36 |Fx I A1E Bah 298 (N)| I &HE 4.1 R 4.3
37 |F=x I A1 E Bah 298 (N)| I &HE 4.3 AR 3.5
LI EES Jvr A1 E Bah 298 (N)| I &HE 4.2 | R 3.5
I EES I A1E Bah 298 (N)| I &HE 4.1 R 3.6
40 [Hx I A1 E Bah 298 (N)| I &HE 4.2 | R 3.5
INIEES Jvr A1 E Bah 298 (N)| I &HE 4.2 | R 3.4
IVREES T HA1E AT 9B 0K)| F&RHE 4.1 R 3.3
43 |Hx 217 TEEBAREN 8EH(N)| A &HE 3.8 | A &H 3.8
AEES 217 BRI AR 3H(R)|] A igHE 4.6 | R 3.8
45 [Hx IIZF BT Z=ZAEH] 1TTHCR)[ A &HE 5.0 | & 4.1
46 [Hx IIRZF ELHAHITRER | 8HCN)] R~ &HE 8.7 | A& 7.6
NIREES IIZF BRI ED 3H(R)|] A &HE 5.7 | *&H 4.8
418 |HE YILLSY+ (7)) |[BRLUThZial] 3B (R)| A%&HE 7.3 | g 5.9
49 [Hx KOASY AT 215(B)| *&HE 6.0 | & 5.2
IEES KoAY BLURBEMEEATE| 280K ~E&H 6.4 | R 5.3
IEES KoEO3IY [BILTAZEER 7H(B)] ~&HE 9.6 | & 7.6
R EES K<Yk LT ESH 23H0K) | FEH 8.3 | A& 6.8
EEEES K<Yk ELHAHITRER | 8HCN)] R~ &HE 5.9 | &H 4.9
N EES Y EBLmEALBTALE|] 1HCN) | A& 1.7 | %1 10.4
EES K<Yk A= 298 (N)| R &HE 7.2 | A%H 6.8
56 |FF EXxF R HF0 ] 298 (N)| R &HE 5.8 | A&H 5.2
57 |FF=% F R TEEAEN 9H(K) | A RH 8.5 | & 6.6
TEES F X ER L AT 1TTHCR) [ A&HE 9.0 | & 7.1
IEES F X ELHEM 10HCR)| R~ &HE 7.8 | ABH 6.2
60 [Hx F X BB TR ZEARET 8HCN)| A RH 8.6 | A& 7.0
61 [Hx E—<v BLUTZREE S/ [158C0N] FEE 5.8 | &H 4.9
62 |Hx E—<v BB TR ZEARET 8HCN)| A RH 8.9 | A& 7.0
63 [Hx ~NF~ A= 21H(B) | A& 4.5 | BH 3.8
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gL — = - ®REH 8 REERE]| . &R E
m==| N7V 5uE PRERS 88) | TIN34 | senras) | BOM3T | hsenian)
T EEES SRV K LU= HET 6H(H)| &L 9.7 | F%&H 7.8
65 |[FF% =397 BB LI T Be] 2 H] 18H(£)| ~&HE 10.6 | ~&E 8.7
66 |FFR =397 BT BERL 28H(B)| A &HE 12.2 | ~&E 10.3
67 |Hx =397 EIGEEREES 31H(K)| A &HE 11.0 | ~&E 9.2
68 |[FF% =397 ERLLTHERAR 30H0K)| A &E 7.0 | ~%&H 7.2
69 |[FFxE =397 BT = HET 8HON)| A &RHE 9.1 | F%&H 9.0
70 |[H =3vA LR 26H(K)| A&EH 5.3 [ A%&H 6.6
I EES =3vA LR 2HCN)| AMEH 8.9 | A1&H 7.8
IR EES =3vA ELHEALLETRAEHE| 10B(R)| A&H 9.5 | A1&H 8.2
IEEES =3agh ELmEALLBTRARHE| 238 (K)| A&H 9.4 | A&EH 8.4
I EES =3vA 81 /\LLH 17TH(KR)| A& 9.1 | A%&H 7.7
75 |[FFE =397 K= 2380K)| &HE 8.3 | A&H 8.0
76 |FFE =397 K= 21H(B)| I &HE 1.1 [ ~&E 9.8
A EES EONT Y (&) |[BRILTHZETER 31 (K)| A &HE 8.5 | A& 6.8
78 [ILE-FOCH[15Y LT 2380K)| F&HE 13.0 61.3 11.6
79 [BNE a1 BLAEXALEXEFEA] THB)] T%&H 7.7 13.1 6.5
80 [RE ONJRD BUmsE A LETRER [ 295 (X)) ~&HE 10.2 | ~&E 8.0
81 [RBE JRD ERLL T EATET 30B0K)| A &RE 9.8 | A& 7.9
82 |BE JRD HATER=F&H] 2380K)| I&HE 4.8 | ARH 4.0
83 [E= JRD BE™ 2B0N)| F&HE 6.9 | & 5.8
(AEES TS5 v IR — |[BUGEMEENTE| 1H(B)|] ~%&H 8.3 | A& 7.0
85 [E= T)IL—~"D— BRI REH] 23H0K)|[ A& 8.7 | & 7.1
86 [E=E JIL—RU— [BLHRAEITAFEH [ 250K ~EE 5.0 | &H 59
87 [E= J)L—_XY—  [FE;ERRIRE] 30H(K)| A& 5.6 | A&H 4.7
88 |®= JIL— 8L HANERET 23H(K)| AiEH 4.3 | A1EH 3.6
89 [E= TIL—y HUmsE A LERER [ 18H (&) ~&E 1.4 | T&E 10.2
90 [EE £E BE™ 218(B)| I &HE 9.9 | I&H 8.7
91 [BE £E BE™ 68(H)| I &HE 5.4 | I&H 5.1
92 [Zoft v IRy (GEGE) |ERLLThEATE] 25H ()| A%HE 8.8 | & 7.0
93 [Zofib BT BT Fa T 288(B)| I &HE 8.4 | A& 6.8
9% [Zofth A0 (3B5P) [EBIL =FEHE]T 2H0OK) | A& 6.5 | A1&EH 5.0
95 [H28EMmIEXK [KX (BX) LT 318 (KN)| A~ &HE 6.6 | & 6.7
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